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Read the passage and answer the questions that follow:

Silk is a natural protein fiber, some forms of which can be
woven into textiles. The protein fiber of silk is composed
mainly of fibroin and is produced by certain insect larvae
to form cocoons. The best-known silk is obtained from the
cocoons of the larvae of the mulberry silkworm Bombyx
mori reared in captivity (sericulture). The shimmering
appearance of silk is due to the triangular prism-like
structure of the silk fibre, which allows silk cloth to refract
incoming light at different angles, thus producing different
colors. Silk is produced by several insects; but, generally,
only the silk of moth caterpillars has been used for textile
manufacturing. There has been some research into other
types of silk, which differ at the molecular level. Silk is
mainly produced by the larvae of insects undergoing
complete metamorphosis, but some insects such as
webspinners and raspy crickets produce silk throughout
their lives. Silk production also occurs in Hymenoptera
(bees, wasps, and ants), silverfish, mayflies, thrips,
leafhoppers, beetles, lacewings, fleas, flies, and midges.
Other types of arthropod produce silk, most notably
various arachnids such as spiders. Several kinds of wild
silk, which are produced by caterpillars other than the
mulberry silkworm, have been known and used in China,
South Asia, and Europe since ancient times. However, the
scale of production was always far smaller than for
cultivated silks. There are several reasons for this: first,
they differ from the domesticated varieties in colour and
texture and are therefore less uniform; second, cocoons
gathered in the wild have usually had the pupa emerge
from them before being discovered so the silk thread that
makes up the cocoon has been torn into shorter lengths;
and third, many wild cocoons are covered in a mineral
layer that prevents attempts to reel from them long strands
of silk. Thus, the only way to obtain silk suitable for
spinning into textiles in areas where commercial silks are
not cultivated was by tedious and labor-intensive carding.

1) The Mineral layers on wild cocoons

A) gives the silk thread a special Shine

B) prevents the extraction of long strands of silk thread
C) makes the Silk thread stronger

D) prevents the breakdown of silk thread structure

2) The wild silk used by the ancient Chinese is from

A) Lacewings

B) Mulberry silkworm
C) Catermillar

D) Silverfish

3) The best known silk is obtained from the cocoons of
which of the following?

A) Lacewings silkworm
B) Raspy cricket

C) Mulberry silkworm
D) Webspinners

4) The shimmer in the Silk is because of the

A) triangular prism like structure of the Silk fibre
B) labour intensive carding

C) different coloured fibres of the silk

D) fibroin- protein fibre of the silk

5) Reeling long strands of silk thread from wild cocoons is
difficult because

A) wild cocoons are shorter in length
B) the cocoon is torn by the Pupa emerging from it
C) the emerging Pupa eats it

)

D) silk strands of wild cocoons are brittle

6) Find the most appropriate opposite meaning word:
COMMISSIONED

A) Closed
B) Started
C) Finished
D) Terminated

7) What is the plural form of Wolf?

A) Wolfs
B) Wolves
C) Wolf's
D) Wolvies

Techofworld.In
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8) Select the correct option.

Generally speaking, women are mentally
stronger than men.

%m Techofworl¢

9) Select the correct form of verb from the given options.

| am very happy, my favourite singer tomy
city next June for a concert.

A) is coming

B) will come

C) would be coming
D) will be coming

10) Find the most appropriate opposite meaning word:
SHRINK
A) Contract

scnese T echofworld.

D) Dwindle
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11) The University Grants Commission selected which of
the following departments as Centre of Advanced Study
In Education (CASE) in the year 19637

A) Faculty of Education, Bhopal
B) Faculty of Education, Gwalior
C) Faculty of Education and Psychology, Mumbai
D) Faculty of Education and Psychology, Baroda

11) GarQ 6was eIl § 6949 2T AFNIYY 88 @
qgeaaq (3.4492.9) 94 68 1963 adel 6a YFeds giea
@F1de FIQI 998 K9 AIALYRI?

A) UIGR, 2T 95699%, 6RITIR

B) criaf) 2 9geads, sqlaIReIa

C) 1), 21T Ig6Rde 218 ARERIERE, eI
D) 9@ 2T 9g6ade 28 ARERIENR, F6qIal

12) The National Commission on Teachers—| (1983-85)
suggested that the term 'Practice Teaching' should be
replaced with the term

A) Apprenticeship
B) Practice Training
C) Internship

D) School Training

12) QURSIR A28 2 §od -1 (1983-85)6a QUIRE @F gem
60 "gIRQ GO Uat Ggeug 6R9 U9 d2 Q4R 6991 A6,

A) qseqda aeada
B) 9159 6cqer

C) aeadg

D) g 65@ar

13) Which of the following writs mean "You may have the
body'?

A) Habeas Corpus
B) Certiorari

C) Mandamus

D) Quo Warranto

13) & 8g 9@ g ARIA A¢ 626 'g 67 21] § @87

A) sadeq adq
B) cadaia

C) aiaing

D) 64 giques

14) Which of the following systems of education, based on
the accepted structure of 10+2+3 was proposed by
National Policy on Education, 19867

A) National system of education
B) Unitary system of education
C) Social system of education
D) Primary system of education

14) 10+2+3 Q00RI AU6Q 2GS 7 UG 609 F81 QUedl
QUARIA IRE 2R 1geRaR, 1986 FIQI 92ITG 621RRI?

A
B

) S8IQ RIS QYRQ
) S8IQ 9Re S4QQl
C) da1a ANIGe 4eql
D) dimiq gl2fie Quedl

15) The fluid part of blood made of water, salts, and
protein is known as

A) plasma
B) hormone
C) platelet
D) myosin

15) @90 9a@ 2°0 QITl 99, A9 8 6gidasa G2 GIgig @
QaIAN?

A) Qg

B) eqsrie
C) sgeeme
D) clsaide
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Section 3 - Paperl-Reasoning
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16) What is the time taken in seconds by a 180 m long
train travelling at a speed of 270 kmph to fully cross a
milestone?

A) 3.3
B) 2.4
G2

D) 2.7

16) Q9I9E 270 FenIfica 6296 67 2@eIQl 180 feq 1d 9@
66Q IR FIARGCRIR AGGF FRQIF 6R6E 626748 6097

A) 3.3
B) 2.4
6)2

D) 2.7

17) In a certain code language AUGUST is written as
ISCRUS. How is PLANET written in that code language?

A) ALPTEN
B) CNRVGP
C) CJRRGL
D) CJRVCP

17) 4@ 548 QST @IEIEa AUGUST @ ISCRUS 69f@
EQHIKN | 698 AETER QITIER PLANET q Sa@ 6adIde?

A) ALPTEN
B) CNRVGP
C) CJRRGL
D) CJRVCP

‘echofworld.In

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

Some wallets are watches.
Some watches are belts.
All the belts are shoes.

Conclusions:

I) Some shoes are wafches.
Il) Some belts are wallets.

1) No belt is wallet.

IV) Some watches are wallets.

A) Only | and Il follow

B) Only Il and Il follows

C) Only Il and IV follows

D) Only I, IV and either Il or Il follows

18) B6RGIRP: 067 FUAIRIR FIBN U8q 78 Fd FAARE |
296g GALIRYR ARG Y 6RIR ARG 969 983 § W@l
QARIREER FAIRF| FEOIR B2 6QHITIR2AN | AL Fed] Aeg
G° 0I06R H9A G2, QUIKINYSI F9d AR 696G ARIGESR
FEIEQ S2YQ URNIRR! KQER F12QYe 0] QIS LA K98 |
F18QY: 58 GenT 62uE Q9 | 58 U9/ 6298 6aRT | 99 6anS
Q@@ 6ale! |

adad:

) @F 65101 gE@ A4l |

II) @8 69nC 6298 Q6N
IIl) 67161 6QRE GI6RY Q6L |

IV) @8 Q4 6268 96ng |

A) 6297 1 99° || 25998 99g |
B) caaq 11 99° Il 204 @0g |
C) 6aQ@ 11 9° IV 29204 905 |

)

D) 6ea® |, IV 46° 1| G4 111Q 6915 29908 995
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19) Instruction:
In the following question, mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement |l alone.

3, if the question can be answered with the help of both |
and Il

4, if the question can't be answered at all.

What is the time in the clock now?
Statement | : One hour ago the time was half past 5 pm.
Statement |l : Today is a Sunday.

A) 1
B)
C) 4
D)2

w

Techofworld.In

19) ReLdIaRT FIRAYS Tgsa
1596 209 A% 69Q% (994 | AITIAY6R J40 A8 FRUAIRAIQE
|

2 099 20g, 99 62a% (124 || AR6ITER g4 eaa TR
JIGE |

3, 9T @@ | ¥e° || YLERITIER Y49 Qe GAINIR DIQE |
4, 98 g4 989 676R @ GuIRIR 9168 AIF |

F9U6R ARAIR 6R603 QIFE ?

2Ry | Q4N 96R AT IR ASE 591 |

ey Il aIF QG |

A) 1

B) 3

C)4
D) 2

20) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:
Some fights are acts.
All the dances are acts.

Conclusions:
1) Some acts are dances.
II) Some acts are fights.

A) Only Il follows

B) Both | and Il follows

C) None of the conclusions follow
D) Only | follows

20) FeRGIART: G67 TR AL I8g 78 Fd QUL |
208y TAUAIRYS F12G AR 6Q1R FIFQIg 9fe QT3 G vl
QRIBGIER K€K BAY0IR 6 6adIKIRAN | ANS Fady aeg
49° GIg6a 86 F2g, FRININYRI G9d AR 6REG! ARISEER

F€I2JQ1 B4R ZRAIGG| KQElRl ARy O] VR AGAE K93 |
189y

Q8 AIQTQ 628 ARG
QAQ 9o g 2R |
fad:

) @8 2ea goa QoY |

Il) &8 2090 qee AIede |

A) 6267 Il 29909 90g

B) aag | 95° Il 29904 96

C) 6al6d @ fadqg 2908 @6g Q1T
D) saaq | 2990d @99

— 1 ~ 1 | ]
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21) Which of the following is NOT one of the foundational
skills of language (English) leaming?

A) Writing

B) Understanding
C) Listening

D) Reading

21) 6918 F1IQ 6920 AUl (A°AIFT) FAIQ 61FR 6TeR Q6272

22) According to Pratham’s Annual Status of Education
2013 report, Which of the following is a great concern
about class-appropriate learning?

A) Close to 78 percent of children in Standard Ill and
about 50 percent of children in Standard V cannot yet
read Standard Il texts.

B) Only 53 percent of schools have functional girls'
toilets and 74 percent have access to drinking water.

C) Nationally 29 percent of children drop out before
completing five years of primary school

D) There is a teacher shortage of 689,000 teachers in
primary schools

22) QERIE 9IRl 996 dAIa 98a @S 900N G6aIS agaIy,
6941-0Uge SAIg 658 FANYS FRIQ 6796 1@ TR FIGE ?

A) N9 684160 2RI ANMAIY 78 9BES B 871 6541169 &
QIS 50 goae GmI9a 6841Q QIO 98 AIRRIRIE |

B) 6@e@ 53 gdde dauaasa QRal 6dloma G 74 9690
AREQ AR FPQ I 92T |

C) qic19ga6a 29 gode dnl gede Jaq areed gad
@891 g9Q 910 FIG8s

D) gledie daviea gaesa 689,000 d8a 2RI 28a

g g SECIEEER [P s Nep— [ [ e

23) The prenatal factors that affect the growth and
devleopment of a child are the ones that

A
B
Cc
D

influence him during birth
influence him before birth
do not affect him
influence him after birth

e

23) 999S 6QIgEe ARl dnIe R0 6 26Qeg gIFe F6Q
Q17| FUR gRIGS K82 ?

A) g A9L6a JRITe 96Q
B) @g og 9nIde @6a
C) 2164 gQIGE K59 QI
D) og asa gaiee @6a

24) Which of the following options is TRUE with reference
to the tool/technique called 'Force field analysis' applied in
a school environment?

A) Itis an analysis tool that helps in analysing a student's
calibre and provides feedback for improvement

B) It is a budget management tool that the schools can
use to manage their infrastructure requirements

C) It is a change management tool used to motivate
people towards change and understand resistance

D) It is a useful time management tool which helps in the
analysis of the school time periods

24) TMIRLER IR FRIVINYS| RAREE/6R1ER QIRIg ‘6
Tae 2RRAQ’ gLIKN, 69 ALNER AR 679 Geed A0
elee ?

A) 2199 F6g84 6al9R QIRIF BRI ANl F6HSEI6R
QALY F6R 99° RIIR AIRA OFI YAIF F6Q

B) w2l 9@ Qi@ @ 218 AF0IRGI 6alHR AIRIF FAURRGER
6AFNGT QR Q°QOF IRV JASIRAIER QLI KRN

C) 92l ¥@ 9feer JGeIRGI 6918% LITI 6RIRAING JARS
2Ipq 6900 A0S 18 goealRIq 89l AR YL RAIAIR
ag

D) «gl 9@ 2g6aIgl AL J8QIREl 6alER TR SRR
AN F64EE6R ALIYY V69
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25) In which year was the National Council of Educational
Research and Training set up as an autonomous
organisation by the Government of India ?

A) 1961

D) 1951

25) Q0% AORI0E FIl FIF19 6@ C6QVE 4Q° QIR I8
4@ 90° 4136 2AQUIS WA 69@ F VTS FAARYR?

26) Which of the following activities is NOT a part of
ending the class?

A) Summarizing the class by reflecting on the learning
and the improvements needed

B) Reminding students what they need to do to prepare
for the next day

C) Ensuring all materials used are put at the proper place
and the classroom is clean

D) Discussing the behaviour expected from the students
under various conditions

26) GENUQ 626 FAIRRIT 6541 648 QAR @ 2°E Q6%?

A) 88l 6 ZI9dia 29I 818 fER6a IoTRe a4 6841R AR
aaQl

B) aqqel Ga Jauieiniee @8 990 Qa6 6 FB6R Q7RG
[ aFalyalala]

C) aag Ang 6ag@aa A0 AR Q@I 8 684192 At gal
QREG @Al

D) Qéic afRTea AagRIee 01 28l FAKIRYR! LR
QUER 2IERPR KRS

2= Techofworld.In

i W e s 11 1

27) Which of the following skills are NOT related to Life
skills?

A) Emotional skills
B) Social skills

C) Thinking skills
D) Memory skills

27) FIAIQ 679 QVGI F1QE VVIYER AT AB Q6L?

A) Q191699 QB0
B) aiq@e eas!

C) @@aa @as!

D) c16% agQIa 9as!

28) Which of the following agencies of education helps the
child for its full physical growth and motor coordination

through proper food, nutrition, health habits, exercise and
immunization programmes?

A) Library

B) Radio

C) Newspapers
D) Home

28) GRIQ Q671D AGIIRYER FRIQ 6995 QUL HIQY, 62T,
QIINYIY, UILIF 99° FRINRE QIdIer PR TRl g IR
SIR1GR TQIE 9Q° GITGY 9ol @RQIER AIRILY @GN

A) aioigia
B) 6a@a
C) aqieag
D) ge

29) Which of the following statements is TRUE with

reference to the aims of education under totalitarian
system?

A) Education leads to self-expression or self-gratification

B) Education ensures that the aims of human life always
change with changing time

C) Education enables the individual to control his
environment and fulfil his possibilities

D) Education becomes stereotyped and education takes
the form of indoctrination
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29) SARNYS FRIQ 69Q 9BRY AYFIANIIFT IGL IS Y Q
Q6D Q ARN6Q ASY (TRUE) 216972

A) 881 2I6) - AEYB Al AIR-Ag] 2Ieg LN

B) dal @l QF8e @GeNM 64 IR F1RQ Q AEREY AGEIER
QRPN AFIA ATG YR

C) g1 Q187 F9Q INYIARE @ FARS AR 6 FIZIA ARG
Jod REQI QIR AVE QRIRAIN

D) dig1 ge1 6210KIReIN 8 dRI YERIRRE QU 6aRelN

30) The question answer method of discussion and
teaching was propounded by

A) Freud

B) Socrates
C) Aristotle
D) Spencer

30) 99-Q@Q ZIENSFI 6 FIQIR 9G] @ QILIQ KLl ?

vee | @Chofworld.Ir

B) 26659
C) 21G6qI5R
D) 6a9a@

JoinUs-' > f
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31) FIRYO AUQ 6RNET 9@ 0Q A7 9N 26T ?

A)
B)
)
)

(@)

Q1

8 O A

Cc
D

10
Wl

32) 6 QA dIg A @ 21d Qe ?

33) ‘AR UL’ 6Q 609 T6@ 297

A) ge1al
B) ga1

C) ogé
D) asmen

34) 'AIFel- 66R 6§41 @ 99 269

A
B

) 6G6cade
) 6Q @9
C)eqan
D) cqae

35) '931 61969 60@ UeId AIGE ?

36) QUOR 29AEA 699 SR ZIEl ACANT IEIR TI0 ARTR! 26N
Q2 5RY QI96A PG Gl 69T 9gQ QXN GI2Ig & 99 gRIAN

?
A) edldia
B) caicqe
C)eq

D) @@

37) FORYS FQ 6095 ‘CRIAT 490 FA1C §R ?

A) Zeaig
B) @eaia
C) Geauel
D) @salglt

38) GRIG 601a6a QIFE |- 6AHIFE 09F 600 36 6169 600
6RIRE ?

A) geiell
B) ogelt
C) doa
D) go1a

39) SORYS AR 6QE 621G AAAIIARIT S gEa ?

A) Ag-6aaa
B) saqeiana
C) oa-669

D) clie1-69l¢11Q!

Techofworld.In
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40) e ¢. G6QIR I 69T AUATER 90 FR G6L ?

A) Feaie
B) gqa
C) aage
D) gale

41) ‘90 0& QUi QRta &g @' ?

42) 9oRl 1§69 A9 6QKRE | 6dIRE 968 & gRI F6584
98¢

A) 299l Q99

)
B) go4 cioe
C) ga e

)

D) gagiae

43) El(‘.l‘& Jem | 6QFIEe 90T @ gRIQ S6884 26 ?

A) aae QIeQ
B) Qeuat

C) gesinm
D) qiq1 cio

44) ‘Q1d 8919QI- QR0 2d /'€ ?

A) 28l @ QYS!

B

C) ggleda

== Tachofworld.In

D

)
) 98 R6RQ)
)
)

WtsApp/Call- 8596976190

45) GIAYE NUQ 6296 ‘Ceakle’ F0a FANC IR ?
A) Gage

B) agare

C) ziQiae

D) a1geiQ
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Section 6 - Paperll-Mathematics
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46) After simplification, the expression a(a + 4) + 3a® - 2a
+ 10 simplifies to

A) 3a%+4a+10
B) 4a*+2a+10
C) 2a*+2a+10
D) 5a%+2a+6

46) AARIRQE 6291 96, AN a(a +4) + 3a2-2a +10Q
AR §d 629

A) 3a%+4a+10
B) 4a%+2a+10
C) 2a%+2a+10
D) 5a%+2a+6

47) If the ratio of the LCM and HCF of two numbers is 18

and their product is 288, then LCM and HCF of the two
numbers are respectively

A) 72 and 4
B) 144 and 16
C)36and 4
D) 36 and 16

47) gaf @349 R.Q1.G 99° 6.91.9Q AFUIG 18 Y& 6AFIATS
GEITR 288, 606Q §9F A°HHIA ALY ¥S° 61.41.9 DRGSR

A) 72 9e° 4
B) 144 qe° 16
C) 36 99° 4
D) 36 9e° 16

48) A square with a side of 2 m has a circle inscribed in it
and in turn this circle has a square inscribed in it. If this

square also has a circle inscribed in it, what is the area of
the second circle? (Take N =22/7)

A) 11/28 sq.m
B) 11/14 sgq.m
C) 22/14 sq.m
D) 1sg.m

48) 2 fieq Qi 794 6015 AFIERG §06R IQ QR ARC 62IRT
4Q° 2 98 §06Q @ AdeRg 2Re 6218 | A7 Y2 ederg

FIGQ IR 9R UFE CTIRE 656% §919 QRACRSTR 69667 (M
=22/7 QI96Q Hag)

A) 11/28 qd fea
B) 11/14 qd fiea
C) 22/14 @4 Gigq
D) 1 ed @iea

49) If a product is purchased for Rs. 490 and sold for Rs.
465.50, then the loss percent is

A) 5%
B) 20%
C) 10%
D) 15%

49) A8 6615 QIS Rs. 490 6@ @€I9R!1 98° Rs. 465.50 Q9@
ARUTR, 6669 FER IS 6208

A) 5%
B) 20%
C) 10%
D) 15%

50) If x+ y =4 and 2x - y = -1, then the value of x, y are

A) 15
B) 1,3
C) 4,1
D) 1.4

50) 9@ x + y =4 and 2x - y = -1, 6561 X, y Q FJmY 6298

A

C

)15
B) 13
)41
D)14



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

51) If (x+5)% = 100, the possible value of 'X is

53) Equation of a circle with centre (0,0) and radius r is
equal to

A) X2+Y?=r2
B) X?+Y%=r
C) X2+Y?=0
D) X2 -Y2=r2

53) 629 980 9@ Q Aeed (00) 26T 6 28 NQ r
Aqe A7Ie 2G|

) X2+Y2%=r?
) X2+Y2=r
C) x2+Y2=0
) X2-Y2=p2

"echofworld.In

54) Radius of the incircle of an equilateral triangle with
side 156v3 cm is

A) 82 cm
B) 78 cm
C)68cm
D) 70 cm

54) 156v3 6Qfi QI 2Q1 9@ ATQE GPF @ 98 Q AKMQ
6o

A) 82 6ad
B) 78 eaf
C) 68 6qf
D) 70 e<fi

55) The product of two numbers is 768. If the H.C.F. of
these numbers is 16, then the greater number is

A) 98
B) 32
C) 24
D) 48

55) Q@6 Q°HIQ gEoe 7681 9T W€ Qdugeea 9.4.g 16
21 696R QLA Q6| 62aF

A) 98
B) 32
C) 24
D) 48

56) The length of the hour hand is 7 cm. What is the area

of the sector traced by the hour hand after it has moved
through 4 hours?

A) 58.33 cm?
B) 51.33 cm?
C) 55.33 cm?
D) 48.33 cm?

Tﬁf‘l’\f\'F\Alf\i"lA Ih
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56) Q4 @4l Q Q¢ 7 648 261 92l 4 941 QRAGA AR T 58) Q@
24l g1 664 621N 6N AT R 6Q6L 26T?
X _y_z x+y+z
A) 58.33 6aéi2 3 4 7 oreeem 2 =
B) 51.33 eafi?
~Techofworld.In,:
C) 55.33 6Qf? g A =
D 52
) 48.33 64 B) 7
1
C) =
57) The ratio of marks obtained by Anand and Banu is 6 : -
5. If the combined average of their percentage is 68.75 D)2
and their sum of the marks is 275, what is the total marks
for which the exam was conducted?
A) 100 59) Profit earned by selling a product for Rs. 1060 is 20%

more than the loss incurred by selling the product for Rs.

2 205 950. The price at which the article is to be sold to earn
C) 200 20% profit is
o A) Rs. 1260
B) Rs. 1200
57) 2lge 9e° 99 RSl 99Q Al 651 Q9 eaRIew C) Rs. 1500
' D) Rs. 1860

go40a Fae IR 68.75 ¥9° 6ATIRE GFeq Aed 275,
6064, dECIRE 62192/ ORI AFRIN GF9 6687

59) 66115~ ANGIF Rs.1060 66 &G F6R 698 AR 24 GILl 9B

A) 100 QGG Rs.950 60 33 Q6M 606 A §46I'0IQ 20% 2@ 9@
B) 500 QNG 666 SFI6A FF6M 20% AR 699 BI9| 6298
C) 200
A
D) 300 ) Rs. 1260
B) Rs. 1200
C) Rs. 1500
SELIR D) Rs. 1860
X _y__ z x+y+z
3 4 7 'then Z = 0 i % I
60) In a class 50% of the students like hockey, 80% like
cricket and 40% like both. What % of the students like
A) E none of these games?
7
B) 7 A) 40%
1 B) 20%
)3 C) 10%
D) 2 D) 30%

TAAI’\AI\.II\W'I\I Iv'\
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60) 691I5: 684116Q 50% FYIel1 289 T 998, 80% F600]

QAR FAE B 40% QAVLQ AR FAT [6R6S % FIEl NFRRQ
60163 681@ CAQ QAR 182

A) 40%
B) 20%

o Jechofworld.In

D) 30%
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61) The boundary between the troposphere and the
stratosphere is called the

A
B

C
D

Stratopause
Mesopause
Exopause
Tropopause

61) SEUBER 8 YWETRNA O ISR LERQ 96 QRPN ?

A) gi601399
B) srica@aq
C) weg@oq
D) geai@aq

62) A change in the constitution can be brought about by

a simple majority, in which type of constitution among the
following options?

A) Difficult
B) Simple
C) Flexible
D) Rigid

62) EEIBFINT FIQ 609 IRIA ARIRER 6RAR Y@ ARIAE
Yy TSI FIR AANIFER AFRRT 2EILIRTIER?

A) e5@
B) aam
C) qaaaia
D) @soi@

63) In which year did Subhash Chandra Bose resign from
Presidentship of the Congress?

A) 1942
B) 1939
C) 1938
D) 1940

63) 690 Q¥ YRIY ©F 69T @6Yd Q WIF IT Q@ TG
abigem?

A) 1942

)

B) 1939
C) 1938
D) 1940

64) Which of the following dynasties was founded by Sher
Shah?

A
B
C
D

Rajput dynasty
Sur dynasty
Mughal dynasty
Sikh dynasty

_— e

64) G653 F12Q 694 QIR d 669 dI2& 90l VTG 6TIRIRI?

A) QYT AURL°E
B) ¢ ciga°s
C) 6a19R QIee°d
D) ¢ auza°sl

65) Which of the following options refer to the composition
of the upper layer of the Earth’s crust?

A) Oceans
B) Continents
C) Sial

)

D) Sima

65) Q66118 FUQ 6260 PARE AUR 3Q?

A) agiaigie
B) aizleed
C) Qaim

D) gl

WtsApp/Call- 8596976190


https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

66) Which of the following words in Sikh means the path

68) FEIBTINE RIQ @9 FURUIRRIR FAIR CATIRTI FAE?
of righteousness and proper religious practice?
A
A) Gnyan ) qEiaR
B) Granth T h f | d I B) saq falee afide
C) Sangh e C O WO r n C) aigy Geioe ad4q
0) Biyem D) Guie aql

66) Sc6Q FIRYG AUQ 699 SRa 2 UFRGI 9e° 0F6 MR

" 69) Which of the following layers of the Earth's
AW atmosphere is surrounded by a strong magnetic field?
A) gie A) Magnetosphere
B) ga B) Mesosphere

C) Stratosphere
C)ara
D) Troposphere
D) aici L i
69) G679 FRIQ QAR AIYILRA 624 2°0 JFIRT QI

67) Which of the following reports was a result of a 689G FIRl 9669867

challenge to prepare a Draft Constitution by the Congress

given by the Secretary of State for India, Lord

Birkenhead?

A) quica6eRea

B) ereri@oa
A) Prasad Report
B) Tilak Report

C) asci@aa
C) Gandhi Report D) 6gi60i@oa
D) Nehru Report
70) Who among the following was the chairman of union

67) G668 FRIQ 606 A6TIT VIRG IR QI AT G F6aR6aR constitution committee?
'é‘|?| @ f@q e dRIe ¢99! 997 dIR @QIKIRdQl 2IFIee ) Sl N
el B) J.B. Kripalani
7 - C) Dr. Krishnamachari

) gaIe Gsare D) Dr. B.R. Ambedkar
B) Gae Geaig
C) qim @sale
D) 6neg G6aIe

70) feqRAioe CRIQ @ Q1R ARG A0FR 2D 2em?

A) GIIZORIRN 6362Q

68) Who among the following conduct the elections for B) 62.9. GaQ
municipalities in India?

C) ¢. GaiqIsIal
A) Chief Minister

B) Central Election Commission
C) State Election Commission
D) Legislative Assembly

D) ¢. 2. 216999
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71) Who among the following appoints the Administrator

for Union Territory in India?

A) Chief Minister
B) President
C) Governor
D) Prime minister

71) Q6LlI8 flinw R @Y RUAGER 6RL4Ike UEea gaIaR

08 Kaa?

A) qavagt
B) qugad

C) aimyaier
D) guieaa

72) Oceanic resources beyond 200 nautical miles of the
Exclusive Economic Zone, is the BEST example for which
of the following types of resources?

A) Abiotic Resources

B) National Resources

C) Non-Renewable Resources
D) International Resources

72) (LKIG96R 200 FERIN AIGR A6Q &I I03 2LUCToR 2GR,
FARGYE FRIQ 606 TRIAR AR PR ALQE 2667

A) 2i6Ge aRR

B) gigoe ase

C) aQ1Red 6Ly QR
D) rladicle Qge

73) Which among the following imaginary lines are used

to determine the time of a place on the surface of the
Earth?

A) Latitudes
B) Equator
C) Parallels
D) Meridians

WtsApp/Call- 8596976190

73) QIeIYEEa 6419 AR UG QIR AR FIRYe
U 6R9 FIFER 6QS UITIQ FAICLIREN?

A) 284l 609

)
B) 3ga 6aql
C) aqi@ easil
D) auide 6asl

74) What is the distance between two longitudes at the
poles?

A) 110.3 km
B) 111.7 km
C) 111.3 km
D) 0 km

74) 691Q FRCER AT QIIAIQ 9O0I 6860 62IREIN?
A) 110384
B) 1117@4@
C)1113a4

)

=}

0&a

75) Taxol is an antimitotic agent used to treat various
forms of cancer. From the bark of which of the following

trees is this derived?
A) Pine tree

)
B) Eucalyptus tree
C) Yew tree

D) Alder tree

75) 368 9RI00 96 6616 AUFIA AGRIEA UEFIR , 9@ g1
21§98 QI 9638 266, 121 699 989 TR JIS 62IN2AN ?

A) QIRQ o8

C) g og

)

B) q1ead ag
)

D) 2iqe o8

T AaAalhAfiiAwlA

LN
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TeC h OfWO rl d Section 8 - Paperll-Science

76) Which one of the following reactions are used in black

I 5 A) (i) is FALSE and (i) is TRUE
AndWIlE;photogiaphy: B) (i) is FALSE and (ii) is FALSE
) Buming of cosl ) () s TRUE and i) is TRUE
B) Iron nails dipped in copper sulphate solution ) (i) Is TRUE and (ii) is S
C) Reaction of calcium oxide with water

)

D) Decomposition of silver bromide by sunlight

78) f¢] @@geR 0eg 6 A0 Gea 00 @93 |

(i) ARCAERIE| 2R R FIAI IRIEEG ETICR QR 2T QIR 9@
76) GARQ 609 90T QIR I8 YRS 6TIEOIGITER SYeTIR gIsl1 6QIBEQ 2N |
QQUAIN?

(i) MRACAISRIF] 68 IRRA 2N QI FESILINGGES, 6950, Ade
_ 3 QUGS 2¢), JIPe FALIER AT
A) 6RIaR FRe Tiqs g |

)

B) QeI 99ig @0Q ARETS 9RdsR 9oIaQl
)
)

- - —— A G ~ i A
C) g7 980 MIRd9A BgIeea gaaal ) (i) 6208 @ 6 (i) 6298 0@
- ) B) Ny
D) gdiad 910l e 69191909 29a0% ) (i) 6208 g 6 (i) 6208 g
C) (i) 62eg 0% G (i) 62ad 09
D) (i) 62a8 O G (i) 6208 ga

77) According to the work-energy theorem, the work done
by the net force on a particle is equal to the change in its

: 79) Which of the following organisms have well-organised
4 potential-energy nucleus with a nuclear membrane?
B) angular momentum

C) linear momentum

A) Sulfolobus
D) kinetic energy B) Escherichia
C) Streptomyces
. D) Diatoms
77) QIK4-68 QU AR, 9P SR QI6A AFRIL IR IR
ARS Y LR 6RE26R JAeR AL AAIR
79) GgorQ 606 291N QiQIa R Ade W@ Q600
A) 35a o8 QG2 ae?
B) eaigna o6
A
C) edia 96 ) ARETIERIS
8 e
D) g5e 43 ) gsa&Ge
C) saeqyInsad
D) @raeq

78) Read the following statements and choose the
CORRECT option.

(i) Lysosomes are non-membrane bound vesicular

organelles in the structure of an animal cell. e C O WO r n
(i) Lysosomes contain enzymes that are capable of x
digesting carbohydrates, proteins, lipids and nucleic

acids.
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80) Read the following statements and choose the
CORRECT option.

(i) Halophytes are high salinity tolerant plants.
(if) Xerophytes are plants that have adapted to the

conditions where the rate of loss is potentially greater
than the availability of water.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is FALSE
D) (i) is FALSE and (ii) is TRUE

80) &%) @@gea deg 8 A0x 398 Ue /93 |
() LERTIFG Jor T RIS LR Q8D |

(il) 696RITIRG GEe 6268 69F ade T a8 06E56a 21gem
6219873 6J90/69 67 AINEC! PIRIER BEA IR ZRIR &I |

A) (i) 6228 O 6 (i) 628 09
B) (i) 620@ 0 G (i) 6298 g
C) (i) 6298 om G (i) 6908 gn
D) (i) 6248 g G (i) 6208 O«

81) In which of the following habitats, will plants usually
have spines instead of leaves?

A
B
c
D

Aqguatic Region Habitat
Grasslands Region Habitat
Mountain Region Habitat
Desert Region Habitat

81) BFQ 60 2ILIAER, AERYEIER ARIRLISE I8 FIFER
Qql 9@ag?

A) @19 2191

)
B) clogg@ 2
C) aigie 219

)

D) cged aeia

Techofworld.In

82) Which of the following organelles of a plant cell helps
in oxidative phosphorylation?

A) Nucleus

B) Golgi bodies
C) Mitochondria
D) Lysosomes

82) 60T QEQ QIR §F ATYER AUR 6RG AFEETR
TACTIRERARER AIRIAY KERX?

A
B

Cc

)
)
) AIgseIREl
)

D) Qupsaieaic

83) In old age, arteries carrying blood in the human body

become narrow resulting in an increase in the blood
pressure. This follows from

A) Archimede's principle
B) Bernoulli's law
C) Stoke's law

)

D) Pascal's law

83) Q®IQAEa F88Q JACER QBT UAGYFR AGES
CRIRKIN TRER Q@I 9F NI ¥R QIRIQ AFARE QEQ

A) BiIgenEas deie
B) esdimw Goa
C) salqw o

D) arupe faq

84) A rubber cord catapult has cross-sectional area 25
mm? and initial length of rubber cord is 10 cm. It is
stretched to 5 cm and then released to project a missile of

mass 5 g. Taking Yrubber = 5 x 10% N/m? velocity of
projected missile is

A) 200 ms™!
B) 20 ms™’

C) 100 ms™
D) 250 ms™
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84) 9@ QIgRQ 99 6997 688 25 mm? ¥e° gInEe Q99
661019 g 6298 10 cm | 92Ig 5 cm 9dYa G4l IRl 9e° 5

g 916 99 6894199 968 aaldnl | g6ade 68041950 629
6@6% ? Yrubber = 5 x 108 N/m#Q2Iae

A) 200 ms™
B) 20 ms

C) 100 ms™
D) 250 ms™

85) Surface tension of water is 0.072 N m™'. The excess
pressure inside a water drop of diameter 0.6 mm is (Given,
cosB = cos0° = 1)

A) 72 N/m?

B) 120 N/m?
C) 480 N/m?
D) 240 N/m?

85) @R AR @Ige 219 0.072 Nm'l 0.6 mm 9414 §88 9Q
R 9 G066 266 919 (AG ,cost = cos0® = 1) 6208

A) 72 N/m?

B) 120 N/m?
C) 480 N/m?
D) 240 N/m?

86) Which of the following metals is a least reactive metal?

A) Gold
B) Lead
C) Iron
D) Tin

86) GEIAQ 69 Ig A0IQ @6 IRUIR?

A) gal
B) ara
)
)

o

87) Which of the following options is NOT classified under
the Kingdom Fungi?

A) Worms

B) Yeast

C) Moulds

D) Mushroom

87) GarkiQ 696 SR8 99@ QIE 21F6A S9Ige 6TIRAN?

A) Qangd
B) aa
C) aa
D) ag

88) A projectile is fired from the surface of the earth with
a velocity of 5 m/s and angle 6 with the horizontal. Another
projectile fired from another planet with a velocity of 3m/s
at the same angle follows a trajectory which is identical
with the trajectory of the projectile fired from the earth. The
value of the acceleration due to gravity on the planet is
(Given, g = 9.8 ms?)

A) 3.5 ms?
B) 16.3 ms™
C)5.9ms?
D) 110.8 ms2

88) 5 m/s 69¢IEQ 9Q° UGYEY WILER B 6QI6R 9@ cAUSIY

LJaQ PR QAR | QY ¥R G UGy 9@ 6840419 3m/s
6996Q QAR 6RIG6Q RIIYAQ FERY ARSI 6RASIIQ

QIPEY GERAE 02 2GARE K6Q | 920 GRAIREE 109 Q9E
(MY 62e8 (UG g=9.8ms ?)

A) 35 ms?
B) 16.3 ms?
C) 59 ms?
D) 110.8 ms?

iy Techofworld.In
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89) A force acts on a 30 g particle in such a way that the
position of the particle as a function of time is given, x = 3t
- 41 + 13, where x is in meters and t is in second. The work
done during the first four seconds is

A) 530 mJ
B) 576 mJ

aeom | @Chofworld.

D) 450 mJ

89) 30 gIF1 BRAQ ¥R QG QAR Y@ AR IAR VWA YA
QAR 69, 9E QYR TG AAYREE x = 3t - 4t + t 6Q ALEN,
69Q0I6Q xATREE UQ° t 6ACALER QBRI FaFl 4 6I6QUER
QARG 621N R 6298

A) 530 mJ
B) 576 mJ
C) 490 mJ
D) 450 mJ

90) Read the following statements and choose the
CORRECT option.

(i) Sporulation is a form of asexual reproduction which is
common in algae and fungi.

(i) Spores are special reproductive structures thatmay be
motile or non-motile.

A) (i) is TRUE and (ii) is FALSE
B) (i) is TRUE and (ii) is TRUE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

90) 5¢] REgeR 9L 8 A0 FaT VUL K9G |
(i) 6QIPEMAR 626F Ger AL1Q JIRAA 9@ Qd AL AN 8
QYRR 0l6Q ARIE! |

(i) 621096 6208 F688 gare A°Q0R QI ORAEIR <l

ORALIA 62IRAIGE |
Techofw

A) (i) 6208 O G (i) 6208 gN
B) (i) 62a& O @ (ii) 6208 O
C) (i) 6208 g 8 (ii) 628 Ox
D) (i) 6208 g G (ii) 6228 R
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Question Paper No: 53676 111

Answer Key

1. B 31.B 61.D
2. O 32.A 62.C
3. C 33.B 63.B
4. A 34.D 64.B
5. B 35.D 65.C
6. D 36.B 66.D
7. B 37.C 67.D
8. D 38.D 68.C TE
9. A 39.C 69. A
10. C 40. A 70. A
11.D 41. A 71.B
12.C 42.A 72.D
13. A 43.B 73.D
14. A 44. A 74.D
15. A 45.D 75.C
16. B 46. B 76.D
17. C 47. A 77.D
18. D 48.C 78. A
19. A 49. A 79.D
20. B 50. B 80. A
21.B 51.D 81.D
22. A 52. C S2AC
23.B 53. A 83.B
24. C 54.B 84.D
25. A 55.D 88 C
26. D 56.B 86. A
22D 57N\ 87 A
28. D 58.D 88. A
29.D 59.B 89. B
30. B 60. C 90. B
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